
Part No. 67178 REV-3/2000

                                                              
REPLACEMENT PARTS CATALOG

LIGHTED OVERHEAD WARMERS (FDL)
FDL Followed by 18, 24, 30, 36, 42, 48, 54, 60, 66, or 72

HIGH LOW
MODEL VOLTS WATTAGE WATTAGE
FDL18 120 480 330

208 462 312
230 441 368
240 480 400

FDL24 120 655 430
208 637 412
230 602 395
240 655 430

FDL30 120 840 530
208 822 512
230 772 487
240 840 530

FDL36 120 1080 735
208 1044 699
230 992 676
240 1080 735

FDL42 120 1260 835
208 1224 799
230 1158 767
240 1260 835

FDL48 120 1425 960
208 1389 924
230 1309 882
240 1425 960

FDL54 120 1585 1085
208 1549 1049
230 1456 997
240 1585 1085

FDL60 120 1840 1290
208 1796 1236
230 1700 1185
240 1850 1290

FDL66 208 1986 1346
230 1874 1286
240 2040 1400

FDL72 208 2166 1461
230 2039 1392
240 2220 1515

FOR COMPLETE STYLE AND OPTION DESIGNATION:
ADD ONE SUFFIX FROM EACH FOLLOWING CATEGORY AFTER THE MODEL AND LENGTH

WATTAGE VOLTAGE SWITCH
H=HIGH WATTAGE 1=120V I=INFINITE CONTROL
L=LOW WATTAGE 2=208V T=TOGGLE SWITCH

3=240V R=REMOTE CONTROL/SWITCH

EXAMPLE: A LIGHTED WARMER, 48” LONG, HIGH WATTAGE, 208V, WITH INFINITE CONTROL = OHL48H2I



Part No. 67178 REV-3/2000

FDL18 THRU FDL72 LIGHTED OVERHEAD WARMERS

ITEM
NO.

STOCK
NO. DESCRIPTION

ITEM
NO.

STOCK
NO. DESCRIPTION

1 76845 HOUSING FDL18 75824 ELEMENT FD54 208V 1425W
76846 HOUSING FDL24 75825 ELEMENT FD54 240V 1425W
76847 HOUSING FDL30 75863 ELEMENT FD54 120V 925W
76848 HOUSING FDL36 75864 ELEMENT FD54 208V 925W
76849 HOUSING FDL42 75865 ELEMENT FD54 240V 925W
76850 HOUSING FDL48 75817 ELEMENT FD60 120V 1600W
76851 HOUSING FDL54 75809 ELEMENT FD60 208V 1610W
76852 HOUSING FDL60 75810 ELEMENT FD60 240V 1610W
76853 HOUSING FDL66 75866 ELEMENT FD60 120V 1050W
76854 HOUSING FDL72 75867 ELEMENT FD60 208V 1050W

2 67004 TOGGLE SWITCH 75868 ELEMENT FD60 240V 1050W
3 76100 SWITCH GUARD 75826 ELEMENT FD66 208V 1800W
4 55564 INFINITE CONTROL 120V 75827 ELEMENT FD66 240V 1800W

87053 INFINITE CONTROL 208,230,240V 75869 ELEMENT FD66 208V 1160W
5 55817 KNOB 75870 ELEMENT FD66 240V 1160W
6 76805 REFLECTOR FD18 75811 ELEMENT FD72 208V 1980W

76806 REFLECTOR FD24 75812 ELEMENT FD72 240V 1980W
76807 REFLECTOR FD30 75871 ELEMENT FD72 208V 1275W
76808 REFLECTOR FD36 75872 ELEMENT FD72 240V 12757W
76809 REFLECTOR FD42 8 76801 COVER LARGE
76810 REFLECTOR FD48 9 76802 COVER SMALL
76811 REFLECTOR FD54 10 76106 ELEMENT GUARD
76812 REFLECTOR FD60 11 76955 MOUNTING BRACKET
76813 REFLECTOR FD66 12 67003 ON-OFF PLATE
76814 REFLECTOR FD72 13 56530 PILOT LIGHT

7 75801 ELEMENT FD18 120V 400W 14 WIRE SET: SPECIFY MODEL NO.
75833 ELEMENT FD18 208V 400W 15 76159 END COVER RH DL
75830 ELEMENT FD18 240V 400W 16 89182 SNAP-IN BUSHING
75851 ELEMENT FD18 120V 250W 17 76189 INSULATION FD18 THRU FD72
75873 ELEMENT FD18 208V 250W 18 76190 INSULATION FD18
75874 ELEMENT FD18 240V 320W 76191 INSULATION FD24
75461 ELEMENT FD24 120V 575W 76192 INSULATION FD30
75813 ELEMENT FD24 208V 575W 76193 INSULATION FD36
75814 ELEMENT FD24 240V 575W 76194 INSULATION FD42
75852 ELEMENT FD24 120V 350W 76195 INSULATION FD48
75875 ELEMENT FD24 208V 350W 76196 INSULATION FD54
75876 ELEMENT FD24 240V 350W 76197 INSULATION FD60
75802 ELEMENT FD30 120V 760W 76198 INSULATION FD66
75820 ELEMENT FD30 208V 760W 76199 INSULATION FD72
75831 ELEMENT FD30 240V 760W 19 76211 LIGHT SUPPORT DL18
75853 ELEMENT FD30 120V 450W 76212 LIGHT SUPPORT DL24
75877 ELEMENT FD30 208V 450W 76213 LIGHT SUPPORT DL30
75878 ELEMENT FD30 240V 450W 76214 LIGHT SUPPORT DL36
75803 ELEMENT FD36 120V 920W 76215 LIGHT SUPPORT DL42
75804 ELEMENT FD36 208V 920W 76216 LIGHT SUPPORT DL48
75805 ELEMENT FD36 240V 920W 76217 LIGHT SUPPORT DL54
75854 ELEMENT FD36 120V 575W 76218 LIGHT SUPPORT DL60
75855 ELEMENT FD36 208V 575W 76219 LIGHT SUPPORT DL66
75856 ELEMENT FD36 240V 575W 76220 LIGHT SUPPORT DL72
75819 ELEMENT FD42 120V 1100W 20 75917 TWIN LAMPHOLDER
75821 ELEMENT FD42 208V 1100W 21 75916 COATED LIGHT BULB 120V 40W
75822 ELEMENT FD42 240V 1100W 76874 COATED LIGHT BULB 240V 40W
75857 ELEMENT FD42 120V 675W 22 76803 END PLATE
75858 ELEMENT FD42 208V 675W 23 76804 ELEMENT SUPPORT
75859 ELEMENT FD42 240V 675W
75806 ELEMENT FD48 120V 1265W PARTS NOT SHOWN
75807 ELEMENT FD48 208V 1265W 58004 SELF RETAINING FASTENER
75808 ELEMENT FD48 240V 1265W 89087 8-32 X 3/16 MACHINE SCREW
75860 ELEMENT FD48 120V 800W 88993 10-32 X 3/8 NYLOCK MACHINE SCREW
75861 ELEMENT FD48 208V 800W 88909 8-18 X 3/8 SHEET METAL (AB) SCREW
75862 ELEMENT FD48 240V 800W 89059 #10 EXTERNAL LOCKWASHER
75823 ELEMENT FD54 120V 1425W 88961 10-24 HEX NUT GREEN-GROUND






